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	Module 7: Lesson 3 ASSIGNMENT

This Module 7: Lesson 3 Assignment is worth 19 marks. The value of each assignment and each question is stated in the left margin.


	(19 marks)
	Lesson 3 Assignment: Mechanical Resonance


	(1 mark)
	TR 1.
	The periodic push that a child exerts on the swing must match the ____________ frequency of the swing.



Answer:

	


	(1 mark)
	TR 2.
	Resonance stems from the Latin noun meaning _________________.



Answer:

	


	(2 marks)
	TR 3.
	Every oscillating system has a ___________ frequency, which is determined by the ______________ properties of the object.



Answer:

	


	
	LAB 1.
	Complete questions 1, 2, and 3 of “Part A” on page 384.


	(2 marks)
	
	1.



Answer:

	


	(1 mark)
	
	2.



Answer:

	


	(1 mark)
	
	3.



Answer:

	


	
	LAB 2.
	Complete questions 4, 5, and 6 of “Part B” on page 384.


	(1 mark)
	
	4.



Answer:

	


	(1 mark)
	
	5.



Answer:

	


	(1 mark)
	
	6.



Answer:

	


	(1 mark)
	TR 4.
	Compared to audible sound, the frequency of earthquake waves are generally ___________.



Answer:

	


	(1 mark)
	TR 5.
	Buildings between 5 and 40 storeys high are typically __________ with earthquake waves.



Answer:

	


	(1 mark)
	TR 6.
	Engineers build energy ________ systems into buildings so that an earthquake will not destroy them easily.



Answer:

	


	(5 marks)
	TR 7.
	A 25.0-kg child in Red Deer pumps herself on a swing when she kicks upward on the downswing, thus changing the distance from the pivot point to her centre of gravity from 2.40 m to 2.28 m. What is the difference in the resonant frequency of her swing before the kick and afterwards?



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



